Addition, Subtraction, and Multiplication of Decimals Test
Monday, November 24, 2014

REVIEW SHEET

. What is the place of the underlined digit? (place = words)

. 3047 _Nundred s
. 289078 _thousandtih S
« 35 _ONES

. 12345678 _TeNthS

. What is the value of the underlined digit? (value = numbers)

. 3047 0.04
. 289078 0.00%
sg8

. 12345678 _ 0. 0
. Write sixty-seven and six hundred thirty-one thousandths in

standard form. (0.7 . (_0 5 l

. Write seventeen and seven thousandths in standard form.

17.007

. Write 324.678 in word form.

Haree hondred fwendy - fouor and _
SiX hondred  seventuy- e’;ahﬂ* +housand ths
. Write 19.017 in word form.

Nineteen and seventeen thovsandihs

. Write 556.345 in expanded form.

500 + 50 +( + .2 T .04 t.005




8. Write 900.031 in expanded form.

qo0 + .03 + .00l

9. Insert<, >, or=

11567 _ < 11.5671 15.8_— 15.8000
41.3 7 4103 124 < 1.24
5079__< 508 . 62__2 618
10. Put the following numbers in order from least to greatest:
.58 1.58 .578 .78
513 58 I8 1.5%
11 Put the following numbers in order from least to greatest:
6.23 23 623 1.23
oI%  eE S s
12 Round 58.056 to the hundredths place 58 . O (ﬂ
13. Round 34.248 to the hundredths place Bl A5
14, Round 92.35 to the tenths place a4
15. Round 1,578.691 to the tenths place l_; 57 3 7
16. Round 100.909 to the nearest whole number / 0 l
17. Round 19.9 to the nearest whole number 20
11
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20. 13.2+7+0.098 =

13,200
07.000
T 00.09%
T A .a 18

21.  0.87+1109+3=
O

t+ 0
Pt

QpOO_
O.QOO

0 7
\ 0
O O
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77

22. 0.008 + 2.5 +35.99 =

l
00.00%
0 2.500

+35.990
—3%.49%

23. 1.234+5=

| 234
+ 5.000

A

24, 25.8-13.7 =

ol il

= | PR




28.

29,

30.
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32,

53,

34.

35,
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